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Jnanaor
He axtu Nothing to write home about
Hartama: |1 | Kto Obu1 Ha BeuepriHKke Buepa? Who was at the party yesterday?
Hdennc: |2 | Muma, JI€ma, Créna. Misha, Lyosha, Styopa.
Harama: |3 | Kakoit Cténa? Which Styopa?
Hdennc: |4 |Créna Apxunos. [1dpeHb, KOTOpPBIH HUKOTAA HEe | Styopa Arkhipov. The guy who never bathes.
5 | Mmoercs.
Harama: |6 | a, 1a, 1 nOMHI0O. A KTO emé Tam Obu1? Oh yeah, I remember. Who else was there?
Jlennc: 7 | T'ans, Buka, Okcana. Galya, Vika, Oksana.
Harama: |8 | Kakas Oxcana? Which Oksana?
Hdennc: |9 |Oxcéna Ceménona. [IéByika, kotOpas 6€3 KoHUA | Oksana Semyonova. The girl/woman who
10 | KypHT. smokes all the time.
Hatama: |11 | [a, na, noMHI0. A My3bIka Obuta? Bwl TanueBanu? | Ok, yeah, I remember. Was there any music?
Did y’all dance?
Hennc: |12 |/[a, TanmeBann. TaM ObUTH MY3BIKAHTBIL, KOTOPEIE | Yeah, (we) danced. There were some musicians
13 | paAHbIIe urpasm B rpynme «JJJT». there who used to play in the group DDT.
Hartama: |14 | Kak 66014 My3bika? OHHU XOpOIIO UTpain’? How was the music? Did they play well?
Hdennc: |15 | He axtin. My3bIka Kak My3bIKa. Nothing to write home about.
CaoBapsb
1 |Ha here: at (followed by Location ending)

1 | BeueprHKa

party

4 | KOTOPBIH

who, which; that (See grammar explanation.)

4 | HUKOTrZA

never (Note that the verb is also negated with He. More on negation later.)

5 | {MOii+...cst / MBI+...cs1} bathe; wash oneself

6 | mOMHU+ remember

6 | kmo /umo emg? who / what else?

9 |0e3 koHIA all the time; continuously (lit: without end)

11 | My3BIKa music (Note that the 3 is hard!)

12 | My3BIKAHT musician

13 | paHblIe previously; used to; before (in previous times)

13 | urpaii+ play

13 | rpymma group (Can refer to any group, including a rock group.)
15 | He axTH nothing to write home about
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21-1 ypok FpammaTuka

21.A Another Expression For When You’re Not Impressed

He axTi (16)

Unfortunately not everything in this world is peachy keen. So, the more ways to say that something is nothing to
write home about or nothing special the better. We’ve already learned the phrases Tk ce6e and [Noun] kak
[Noun]. The expression He axTi indicates that an event / thing was not as good as expected.

% Listen and repeat:

O06¢n ObLI He aXTH. Dinner was nothing special.
He axTu can also be used as an adverb (as can Tdk ce6e):
— Kakx Manonna néna? + He axtin./ Tak cede. — How did Madonna sing? +Nothing to write home about.

— Kak 161 yunnibest? + He axi. / Tak cede — How are you doing in school? + So-so.

21.b Verb Agreement With Kro, YTto, and Bcé

KT0 6bIn1 Ha BevepuHke? (1)

Ko always takes a Masculine Singular verb ending, even if you know that the subject in the answer will be a
female or more than one person:

Kro Tam ObL1? Who was there? (Even if you know that the answer will consist of >1 person.)
— KTo0 31ech xypun? — Who was smoking here? (said by Principal Skinner in the girls’ bathroom)
+ JIuza kypuua. + Liza was

— K10 €T MO10KO, BBI? — Who drinks milk, y’all?

+ Jla, MBI IIbEM MOJIOKO. + Yes, we drink milk.

If the subject is uTo or Bcé, the verb is in the Neuter Singular:

Yro OvuT0 B XONONWIbHUKE?  What was in the refrigerator? (Even if you know that the answer will
consist of many items.)

Bcé nexano Ha croné. Everything was (lying) on the table.

@ Form questions and give answers. You'll need to look at the answer to decide whether to ask

KTO Or 4YTO.

Example: was at the party (we) [] — Kmo 6bi1 na éeuepiinke? — Mot 6vlau na eeuepiinke.
1. was listening to the radio (I — fem.) 2. understands Russian (my parents)
3. lives on the moon (1yHd) (my cat) 4. was (lying) on the sofa (our keys)
5. likes to study (Sasha’s brothers) 6. is making dinner (my father)
7. is going to the movies (we) 8. works in Mocksa (Katya’s sister)
9. was lying on the bed (your (pl.) kids) 10. was (lying) on the table (my book)
11. mixed everything up (that talentless 12. was in the refrigerator (her glasses)

lawyer)
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21.B Relative Clauses: Kotopbin
MapeHb, KOTOPLIN... (4); AéByllka, koTopas... (9); My3blkaHTbl, KOTOpbIE... (13)

In case you don’t remember, a relative clause is a clause headed by relative pronoun (who, which, that) that
modifies a noun. Relative clauses let you combine two sentences that share a common noun into one.

1) The man knows all about relative clauses. 2) The man does not bathe regularly. =
common noun |

{The man who does not bathe regularly knows all about relative clauses.}

1) Otto is reading a book, 2) The book was written by C. Montgomery Burns. >

{Otto is reading a book that was written by C. Montgomery Burns.}

Unlike English, which uses three relative pronouns (who for animate nouns and which or that for inanimate
nouns), Russian has just one: kotopsliii. Kotépslii, which is always preceded by a comma, behaves like a
regular adjective, and agrees in number and gender with the noun it modifies.

Masc  TlapeHb, KOTOPBIH CTOUT HA OANTKOHE, YIUTCS The guy who is standing on the balcony goes to
B [IprHCTOHE. Princeton.
Neut OT0 MABO, KOTOPOE OBLITO B XOIOAUIBHHKE. This is the beer that was in the refrigerator.
Fem JIépyika, koTépasi padboTaeT B 6ape, HUKOTIA The woman who works at the bar never bathes.
HE MOeTcsl.
Plural T'1e KHUTH, KOTOpPBIE JISKATH HA CTONIE? Where are the books that were (lying) on the table?

In English it is often possible to omit the relative pronoun who, that, which, while in Russian komoputit cannot
be left out:

[TucbMoO, KOTOPOE 51 YUTAI, JISKUAT Ha CTOJIC. The letter (that) I was reading is on the table.
AKTEpHI, KOTOPBIe pabOTAIOT B pECTOpAHE, The actors (who are) working in a restaurant, speak German
XOpOIIO TOBOPSAT MO-HEMEIKU. well.

g@ Merge the second sentence into the first using the correct form of koTopbIn:

Example: Tam 6611 napens. On yuurcs B Ipuncrone. [ ] Tam 6vin ndpens, komoputit yuumcs ¢ Ipiuncmore.

I'me most cectpa? OmHa pabOTaeT B pecTopaHe.

ITapens crout Ha TosoBE. OH YU PYCCKHUIT S3BIK.

JIésymika 6e3 koHIA oéT pycckue nécHu. OHA cerdqHsa Habpaia He TOT HOMep.
Mpimbs ne€T yaid. OHA KUBET Ha OaIKOHE.

Stu aJIBOKATHI JTFOOAT muTh. OHM MIIOX0 padOTaloT.

Joub He TOMHUT, T1ie MBUTO. OHA O3 KOHIIA 3aHIUMACTCS.

Jlomamu nmesxxar Ha kpoBatu. OHHU XOpOMIO TOFOT.

P NNk LD =

I'ne BuHO? OHO CTOSLI0 HA CTONE.

o

I'ne amepuxanckue Bpaun? OHH paHbIIE KK B MOCKBE.
Jlfomu uayT B kueO. OHMA 6€3 KOHIIA IIYTHAT.

—_
D= S

CpIH sfo0uT mucats. OH mI6Xo ce0s 4yBCTBYET.
®paniry3ckas akTprica XOpouId MOHNMAET Mo-aHITHHCKH. OHA OBLTA Ha BEUEpHHKE.
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21.r -{O}Ba-Stem Verbs

There is an important class of 1*-conjugation (Up-to-Snuff) verbs that we will refer to as -{O}Ba+ verbs. (Since
they're not -u, -e, or ’Ka-2Ka verbs, they have to be 1¥-conjugation.) In the Past Tense and Infinitive (i.e., before
Consonant endings) the stem ends in {O}Ba+ (which can be spelled either oBa or eBa depending on either the
hardness/softness of the preceding consonant or whether the preceding consonant is a spelling rule letter. No
stems happen to have éBa.)

In the Present Tense (and in other verb forms that begin with a vowel) the {O}Ba+ changes to {U}ii+ (spelled
either yii or 10ii). Add the Present endings the same way as with -aii+ verbs: the if and the vowel in the ending are
spelled as a single Soft-indicating vowel.

You may recall that when we originally presented the verb dance, the form was given as Tannyii+. In fact, the
verb dance is an {O}Ba+ stem verb. The Past and Infinitive stem is TanueBa+. (So that e in Tanuesa+ really is
basic {O} but you can’t write unstressed o after u.)

We also had the expression feel well/bad uyBcTBYI0 cedsi xopomo/miiodxe. As predicted, the Past and Infinitive
stem is 4YYBCTBOBa+.

-{O}Ba+ verbs

Person/ | Ending | Pronoun | uyBcTBOBa+ cedsi TAHLEBA+
Number feel dance
Present Tense: Stem ends in {U}n+
1sg -{U} s 4yBCTBYIO Ce0s TaHILYI0
2sg -{O}mb TBI 4yBCTBYeIb CEOs TaHIyellb
3sg -*{O}T OH/OHA/OHO 4yBCTBYET CEOS TaHIyeT
1pl -*{O}m MBI 4yBCTBYeM CE0sI TaHIyeM
2pl -*{O}1e BBI qyBCTByETE CCOS TaHIyeTe
3pl -{U}T OHH 4yBCTBYIOT CE0sI TaHIYIOT
Past Tense / Infinitive: Stem ends in {O}Ba+
Masc I | A, TBI, OH YYBCTBOBAJ CEOS TaHIIEBAI
Fem -J1a o, ThI, OHA qyBCTBOBAA CEOS TaHIleBAIa
Neut -J10 0HO YYBCTBOBAIO CEOS TaHIIEBAJIO
Pl -JIu MBI, BBI, OHH YYBCTBOBAIM CEOS TaHIEBAIN
Infinitive | -TB 9yBCTBOBATH CEOS TaHIIEBATH

214




Grammar Lesson 21

| . .
Question: i {O}Ba+ verbs have what sure seem to be two different stems, so why not list

them as double-stem verbs: {Tanmyii+ / Taniesa+}?

Also, why are these called -{O}Ba+ stems and not -{U}ii+ stems. !

First question: Technically, we could list -{O}Ba+ stems as double-stem verbs.
What makes -{O}Ba+ verbs different from other double-stem verbs is that there
are hundreds of -{O}Ba+ verbs, all of which conjugate the same.

| Answer:

-{O}Ba+ verbs are “productive”; you can create new verbs with this suffix.
Many of these new verbs are derived from foreign words. Try to guess the
meanings of the following “new” -{O}Ba+ verbs:

aTIoJpoBa+ apecToBa+
JIOH)KYAHCTBOBA+ MapKoBa+ (MaIInHy)
PEKOMEHIOBA+ ¢dororpaduposa+

As for the second question, again, you have a good point. However, since the
Infinitive is what is listed in all dictionaries, and since -{O}Ba+ is used by
nearly everyone else, we’ll stick to tradition in this one case.

Y U,

1. Mama xopom6 TaHyerT. (s, Tbl, OHU, MbI, Past Tense, oH, Bbl, kT0?, 5 (first masculine, then feminine)
2. JKé&nHuH otén 110x0 cedsi 9yBCcTBYyeT. (OHA, BbI?, MHbI, g, KOs, Past Tense: oun, Tei? (masculine), oHA)

’ J , , 1 I
3. TMominusa erd apecroBana. (Msl, kT0?, KOmxax, Present Tense', s, Bbl, OHN)

' The forms are Present but it’s really the Future! A lot more on this later on.
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&S Exercise1 Putin verbs that make sense:

Ko Ha BeYeprHKe Buepa?

Kto MO-PYCCKH?

Kro MO€ TTUBO?

Kro Hukorna e ?

Kto Ha KpoBatu?

Ko panbie B [IpriHCTOHE?
Ko TaHIIEBATH?

25 Exercise2 Combine the following pairs of sentences into one using a relative clause:

1.

Jétu nrparor B mapke. OHH MOIOT pycCKUe MECHU.

AnBOKAT cMOTpUT TeneBr3op. OH 6e3 KOHIIA 3aHUMAETCS.

ITeBéi O4ueHb TaMAHTAUBBIN. OH TUIOXO YUHIICS.

I'ne xarra? OHA4 JIexxaia Ha CTOIIE.

[porpammiicT HUKOra He Moercs. O xmi B Hero-Mopke.
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6. Céctpsl 6e3 koHIA KypAT. OHN paboTatoT B CpuHrduime.

7. Kénmmua Bc€ nepemyrtana. OHA UAET B KUHO.

@5 Exercise 3  Finish the sentences as you wish:

1. AHIANCKUI My3BIKAHT, KOTOPBIA paHbIle Urpai B rpymme «Ktoy, ...

2. T'me prok3ak, KOTOPBIH ...

3. JKéHmmHBI, KOTOPBIC CTOST Ha OAJIKOHE, ...

4. Bort némaap, KOTOpas ...

&< Exercise 4 Translate from English into Russian:

1. Tused to drink all the time.

2. Misha’s younger sister likes to dance. She dances pretty well.

3. People who drink French wine never bathe.
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